L AT ‘ Circle Theorems

iﬂid‘\

REVISE THIS
IS Tt

1 A, B, C and D are points on a circle, centre O.

D

1 (@  Write down the size of angle CAB. [1 mark]
Answer L‘k Z degrees

1 (b) Write down the size of angle ACD. [1 mark]
Answer 8 \ degrees

1 (c) Write down the size of angle AEB. [1 mark]
Answer S ] degrees

1 (d) Write down the size of angle BEC. [1 mark]

Answer l 13 degrees
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2 A, B, and C are points on a circle, centre O.
A
C
B
Work out the size of angle CAB.
Give a reason for your answer. [2 marks]
Answer l l degrees

Reason -T\"\?_ C*V\a\t A v semueircle S °\D°
Aﬂg\l’.s IN QG ’orians\e, ud& Lo \¢0°

3 A, B, and C are points on a circle, centre O.

29° C

Work out the size of angle COB.

Give a reason for your answer. [2 marks]

Answer S g degrees

Reason The uné\e. ok the wwkie s buice
he ov\S\Q. ot the U‘fkquUu\ce.
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4 A, B, C and D are points on a circle, centre O.

3

Work out the size of angle ABC.
Give a reason for your answer.

[2 marks]
Answer & L“ degrees
Reason DR ?°S|*QJ OV\&\QS mn a O (,\" C
. 0
c\'uo;&\f'\\ahml add O 120
5 A, B, and C are points on a circle, centre O.
AB is a tangent. A
C
B
Work out the size of angle OCB. [2 marks]

Give a reason for your answer.

Answer C‘ 0 degrees
Reason A {ﬂﬂgev\j(, W\CQJCS s @ TOAA\AS d!: qoo
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6 A, B, C and D are points on a circle, centre O.
A

Work out the size of angle ABC.
Give reasons for your answer. [4 marks]

Angle DOC= 136°
The un{)\e ak the comkre is buice the
ongle ot the groumluence.
F\n le ODC = Angle OCD = A
Euse, ov\g\es inan isoscedes {hw}s\e ue U{,‘“‘L
Angle #DC= da + 4S
= b?
M\S\C« ABC= |80~- 67
=13
D’Q?osi’f% cm&\es mn Qo (,:j(,\'so C\,ua&ri\altml

0

add O 120

Answer \ | I 3 degrees
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7 A, B, C and D are points on a circle, centre O.
EF is a tangent.

Work out the size of angle ABC.
Give reasons for your answer. [4 marks]

Angle DAC - S

Alternole se&me,nb t\ne orem,
Ar@c ADC = 43° .,
An&\u in o tﬁavn\e. adck o 180

Angle ABC= 180~ 473

= | 1?‘0
03?053*% cm&\es n Q (,d(,\ic c\’ua&ri\altm\.
add O 120’

Answer | 3—} degrees
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8 A, B, and C are points on a circle, centre O.

Work out the size of angle ACB.
Give reasons for your answer.

ﬁnalc APY = 65°

The cmé\e. ak the cemlie is bwice the
on & ok the i cumCerence.

An&\b ARC= 180-65

[3 marks]

= {19
OR?osi’f% cm&\es n Q c,t\(,\'-o %ua&ri\mml
add o 180

Answer \ | 5 degrees
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9 A, B, C and D are points on a circle, centre O.
BA=BD
AB and DC are parallel. B

Work out the size of angle DBC.
Give reasons for your answer. [5 marks]

Angle BAD = Ange TDA =14

Rage ang\es inan isoscees Langle w2 e.%unl,
P«r@)c ARD =11°

An&\t& n o h‘mm\c addk b 180

Andk BDC = Angle ABD

Alternake W\g\es are Qal'uo.k

hnj\t’, ABC= 10— 43

= ll'}o
Dfﬂosi’f% omg\es n Q (dg\io c\’ua&ri\mml
add O 120

P\r@lc DRC =53°
Pma\cs n o tﬁava\e. addh o 80

Answer 5 ‘ degrees
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10 A, B, and C are points on a circle, centre O.
A/_\C
@]
D y €

Work out the size of angle BAC.
Give reasons for your answer. [4 marks]

fAngle CRE = 40-2%%
= 1°
Prer\@euk meeks o rmdius ob 40

{'\n\g\e, WC = 63
Alternake seﬂme,nb e orem,

Answer 6 3 degrees
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11 C and E are points on a circle, centre O.
AB and AD are tangents.

11 (@) Work out the size of angle COE. [2 marks]

Ah\(,\?. AED = Av&\q, ACO = q0°

Prjrrmgeui meeks o radius ok 40
Angle COE=110" Angles in o quadn laktrel add to

160°
Answer \ l O degrees
11 (b) OC=5cm
Work out the length of CA to 1 decimal place. [2 marks]
Angle CAD = 25" tan@9):-S
CA
C
A 15° - 9
SCM CA R
ton (39
CA-=-2+W03._
0O
Answer -:"\ cm
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12 A and B are points on a circle, centre O.
DC and EC are tangents.

B
) [Rznms not requ red in this él

Work out the size of angle FBC. [4 marks]

Argle A0 126" A tungek weeks o radius ak 40
and uha\c-‘b \h a tbuxaa\r*\'\akernl addL to 1(900
Angle A2D = Angle Ra0 = 22°
Rase ow\g\es inan ieoscdes kﬁun{,\e e Q‘L‘”’l’
Angle AP = 68°
‘W\Q. cmé\e. aX {'Jhe (,Q,V\,J(JQ, \S ’(,uo\‘c,e, he
onge okt e droumCuence.
Ang\b AFB = W2° Dfiyosi*% cm&\cs n o
c,d(,\io o\lua&ri\ah’.m.\- add O 12O’
Angle ABF= 43" Angks in o briongle odd b \20°
PmLc)\c Foc= ’LS° A -\-qy\aui, nerks & radine o410

Answer Q_S degrees
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13 A, B, and C are points on a circle, centre O.
EF is a tangent.
Angle FAB =5 x Angle CAF.

A
E C F
[Rzums mt required in this Q_J
WO_Ak ou{;he size of angle AFC. [4 marks]
")
WUc=q0 The angle i o semiticcle s 90°
90+ 6=1S

ng\b CAF= 1S

AY\S\L ECl> Q0 {\ns\e, AC =\

A‘h‘\geuk meeks o radius ok 40
Angle APC= 148" hngles in o brangle ol 1o 180
Argle CPF = 327 Angles on o steaighl line add b €0
P‘na\t #7C=58° Rna\es in o triangle odd to 180°

Answer S 8 degrees
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14 A, B, and C are points on a circle, centre O.
DE and FG are tangents.

C ‘ 3N
\QL I

]

G

E

B

F
[Rmsm\s not reqm'u& in this éj

14 (@) Work out the size of angle ACB. [2 marks]

Angle A0D = 02 pf‘h ek meeks o radius ok 40°
and uhe\f-& W a c‘/uadn\al’emk addL to 210’

Angle fcB = oI’ Mgt ok the circumberence
M\} the ongle ok the wnire,

Answer S \ degrees

14 (b) Work out the size of angle ABP. [2 marks]
Angle AQD = Angle Ra0 =1 °
Rage ang\es in an isoscdes Unangle e %ml,
fAngle ARP =90 - 24 P tangewk meeks
= Ol o radiss ok 40’

Answer S ‘ degrees
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15 A, B, C and D are points on a circle, centre O.
ABCD is a trapezium with AB parallel to DC. D
AB =AC

Work out the size of angle DAC. [5 marks]

[Rwsw\s not rec\m' red in This 6_}
Qe +2 + 3x -8 =180°
O?Posﬂ'e. m\a)les in c.sc.l,ic. abuadri\ake,ml,

add to 180’
O -6 = |80 23N+ 2= 95
6> = (86 2(an- 8 = 85

x= 3°

fingle ACB= Angle ABC = 25

Angle CAB = \0° P\“\Qs in 0 bnongle odd tp \80°

Angle DCA= fngle CAD aHernate angles ore o5l
P\n@\e DRC= FG° Pmale.s ina tﬁam't add to189°

Answer -:" S degrees
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16 B and D are points on a circle, centre O.
AE and AC are tangents.

-

Sl -
v _ -
-0
+7\ \1

5x -7

A
=\V
2

Work out the value of X

fngle oD = 2(Sa-7)

16 (a)

D
(R-Qﬂsbﬂs not rtqm'ful i this &] [3 marks]
\Ox - I = 180-x-7F

E

C‘(\vﬂiu, un5\¢ ok ct'rcm{erucz) O =14 = F1-x
Angle ROD = 180 - ber ) o= 183
(ongles in abua;lri\w\uul. add to 3‘00) x= |F
Answer \:'- degrees
16 (b) AD=30cm
Work out the length of OD to 3 significant figures. [3 marks]
BAD= 2 o tan(12)= 0D
o Ad= n° 10
w oD > 20tan(1d)
30 mm
Answer 6 ’ Sg cm
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